
1. There are 4 erasers on each 
table in a classroom.  There are 5 
tables in the classroom.  What is 
the total number of erasers on all 
of the tables in this classroom?

2. Jamar has forty-eight baseballs.  
He wants to share them evenly 
among the six teams in the 
league. How many baseballs will 
each team get? 

3. Isis is making seven taco plates 
and she needs three tacos for 
each plate.  How many tacos does 
she need? 

4. Martina made eight cookies 
that she will sell for two dollars 
apiece.  If she sells all of them, 
how much will she make? 

5. Micah is making cakes.  Each 
cake requires 4 eggs.  He has 28 
eggs.  How many cakes can he 
make with the eggs he has? 

6. Mateo ate two packages of 
cookies with four cookies in each.  
How many cookies did he eat? 

7. Jacob is building ten go-karts 
and he needs four tires for each 
go-kart.  How many tires does he 
need? 

8. Deion has 30 t-shirts.  He wants 
to give the same number of shirts 
to each of his 6 employees.  How 
many shirts should he give to each 
employee? 

9. Deion needs to order five t-
shirts for each of his nine 
employees.  How many t-shirts 
should he order? 
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Unit: 3rd – Getting Started with Multiplication & Division 
Lesson: 3.4.F – Multiplication & Division Facts to 10
Problem Set 1 

4 X 5 = 20 48 ÷ 6 = 8 7 X 3 = 21 8 X 2 = 16 28 ÷ 4 = 7 4 X 2 = 8 10 X 4 = 40 30 ÷ 6 = 5 5 X 9 = 45 

42 ÷ 6 = 7 2 X 8 = 16 4 X 7 = 28 4 ÷ 2 = 2 49 ÷ 7 = 7 20 ÷ 4 = 5 8 X 4 = 32 30 ÷ 6 = 5 9 X 5 = 45

36 ÷ 6 = 6 72 ÷ 8 = 9 30 ÷ 10 = 3 3 X 2 = 6 32 ÷ 4 = 8 28 ÷ 7 = 4 10 X 3 = 30 3 X 5 = 15 9 X 5 = 45

27 ÷ 3 = 9 6 X 9 = 54 21 ÷ 7 = 3 2 X 3 = 6 18 ÷ 2 = 9 2 X 6 = 12 18 ÷ 3 = 6 30 ÷ 5 = 6 9 X 6 = 54

21 ÷ 3 = 7  63 ÷ 9 = $7 24 ÷ 6 = 4 16 ÷ 8 = 2 8 X 7 = 56 36 ÷ 4 = 9 16 ÷ 4 = 4 7 X 2 = 14 9 X 6 = 54 TBS



10. Serafina put a total of 42 
cupcakes into packages.  She put 6 
cupcakes into each package.  What 
is the total number of packages 
Serafina used for these cupcakes? 

11. Brianna ran two miles a 
day for eight days.  How many 
miles did she run?  

12. Kimber has four trees in 
his yard.  Each tree has seven 
buzzards in it.  How many 
buzzards are in Kimber’s yard?

13. Mia has four books and two 
shelves.  She wants to put the same 
number of books on each shelf.  How 
many books will go on each? 

14. Crystal is bagging up 
avocados.  She has forty-nine 
avocados, and she is putting 
seven per bag.  How many 
bags can she fill? 

15. Jeremiah has a twenty-
foot-long pipe that he needs 
to cut into four-foot pieces.  
How many pieces can he 
make? 

16. Micah is making eight cakes.  He 
needs four eggs for each cake.  How 
many eggs does he need? 

17. Mr. Taylor has thirty 
students that he needs to 
divide into six groups.  How 
many students will be in each 
group? 

18. Alexis is buying team 
jackets for nine basketball 
teams.  Each team has five 
players. How many jackets will 
she buy? 
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Unit: 3rd – Getting Started with Multiplication & Division 
Lesson: 3.4.F – Multiplication & Division Facts to 10
Problem Set 2 

4 X 5 = 20 48 ÷ 6 = 8 7 X 3 = 21 8 X 2 = 16 28 ÷ 4 = 7 4 X 2 = 8 10 X 4 = 40 30 ÷ 6 = 5 5 X 9 = 45 

42 ÷ 6 = 7 2 X 8 = 16 4 X 7 = 28 4 ÷ 2 = 2 49 ÷ 7 = 7 20 ÷ 4 = 5 8 X 4 = 32 30 ÷ 6 = 5 9 X 5 = 45

36 ÷ 6 = 6 72 ÷ 8 = 9 30 ÷ 10 = 3 3 X 2 = 6 32 ÷ 4 = 8 28 ÷ 7 = 4 10 X 3 = 30 3 X 5 = 15 9 X 5 = 45

27 ÷ 3 = 9 6 X 9 = 54 21 ÷ 7 = 3 2 X 3 = 6 18 ÷ 2 = 9 2 X 6 = 12 18 ÷ 3 = 6 30 ÷ 5 = 6 9 X 6 = 54

21 ÷ 3 = 7  63 ÷ 9 = $7 24 ÷ 6 = 4 16 ÷ 8 = 2 8 X 7 = 56 36 ÷ 4 = 9 16 ÷ 4 = 4 7 X 2 = 14 9 X 6 = 54 TBS



19. Lin has a total of 36 sodas in 
packs.  There are 6 sodas in each 
pack.  How many packs of sodas 
does Lin have? 

20. Martina has seventy-two 
jellybeans that she wants to divide 
into eight small cups.  How many 
jellybeans will go into each cup? 

21. Carlos has thirty frogs that he 
needs to split up evenly into ten 
aquariums.  How many frogs will 
go into each aquarium? 

22. Abigail has three plates with 
two cookies on each.  How many 
cookies does she have all 
together? 

23. Jeremiah has a thirty-two-
foot- long pipe that he needs to 
cut into four-foot pieces.  How 
many pieces can he make? 

24. Jasmine has twenty-eight rats 
that she plans to use to feed her 
seven snakes.  How many rats will 
each snake get?

25. Isis is making ten taco plates 
and she needs three tacos for 
each plate.  How many tacos does 
she need? 

26. Paula bought three packs with 
five pencils each.  How many 
pencils did she buy? 

27. Sofia built 9 birdhouses per 
day for 5 days.  How many 
birdhouses did she build? 
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Unit: 3rd – Getting Started with Multiplication & Division 
Lesson: 3.4.F – Multiplication & Division Facts to 10
Problem Set 3 

4 X 5 = 20 48 ÷ 6 = 8 7 X 3 = 21 8 X 2 = 16 28 ÷ 4 = 7 4 X 2 = 8 10 X 4 = 40 30 ÷ 6 = 5 5 X 9 = 45 

42 ÷ 6 = 7 2 X 8 = 16 4 X 7 = 28 4 ÷ 2 = 2 49 ÷ 7 = 7 20 ÷ 4 = 5 8 X 4 = 32 30 ÷ 6 = 5 9 X 5 = 45

36 ÷ 6 = 6 72 ÷ 8 = 9 30 ÷ 10 = 3 3 X 2 = 6 32 ÷ 4 = 8 28 ÷ 7 = 4 10 X 3 = 30 3 X 5 = 15 9 X 5 = 45

27 ÷ 3 = 9 6 X 9 = 54 21 ÷ 7 = 3 2 X 3 = 6 18 ÷ 2 = 9 2 X 6 = 12 18 ÷ 3 = 6 30 ÷ 5 = 6 9 X 6 = 54

21 ÷ 3 = 7  63 ÷ 9 = $7 24 ÷ 6 = 4 16 ÷ 8 = 2 8 X 7 = 56 36 ÷ 4 = 9 16 ÷ 4 = 4 7 X 2 = 14 9 X 6 = 54 TBS



28. Kevin and his two brothers ate 
a bowl of grapes.  There were 27 
grapes in the bowl.  Each boy at 
the same number of grapes.  
What is the number of grapes that 
each boy ate? 

29. Brock has six cats and each cat 
caught nine mice.  How many 
mice got caught? 

30. Carlos has twenty-one frogs 
that he needs to split up  evenly 
into seven aquariums.  How many 
frogs will go into each aquarium? 

31. There are two trees in Asher’s 
yard and each tree has three 
buzzards in it.  How many 
buzzards are in Asher’s trees? 

32. Christian has eighteen books 
and two shelves.  He wants to put 
the same number of books on 
each shelf.  How many books will 
go on each shelf?  

33. Crystal is buying an orange for 
each player in the basketball game 
today.  There are two teams with 
six players on each.  How many 
oranges should she get? 

34. Jordyn ate eighteen donuts in 
three days.  How many donuts did 
she eat per day? 

35.  Sofia needs to make thirty 
birdhouses in five days.  How 
many birdhouses does she need 
to make per day? 

36.  Bill has 9 snakes, and each 
snake ate 6 rats.  How many rats 
did Bill’s snakes eat?  
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Unit: 3rd – Getting Started with Multiplication & Division 
Lesson: 3.4.F – Multiplication & Division Facts to 10
Problem Set 4 

4 X 5 = 20 48 ÷ 6 = 8 7 X 3 = 21 8 X 2 = 16 28 ÷ 4 = 7 4 X 2 = 8 10 X 4 = 40 30 ÷ 6 = 5 5 X 9 = 45 

42 ÷ 6 = 7 2 X 8 = 16 4 X 7 = 28 4 ÷ 2 = 2 49 ÷ 7 = 7 20 ÷ 4 = 5 8 X 4 = 32 30 ÷ 6 = 5 9 X 5 = 45

36 ÷ 6 = 6 72 ÷ 8 = 9 30 ÷ 10 = 3 3 X 2 = 6 32 ÷ 4 = 8 28 ÷ 7 = 4 10 X 3 = 30 3 X 5 = 15 9 X 5 = 45

27 ÷ 3 = 9 6 X 9 = 54 21 ÷ 7 = 3 2 X 3 = 6 18 ÷ 2 = 9 2 X 6 = 12 18 ÷ 3 = 6 30 ÷ 5 = 6 9 X 6 = 54

21 ÷ 3 = 7  63 ÷ 9 = $7 24 ÷ 6 = 4 16 ÷ 8 = 2 8 X 7 = 56 36 ÷ 4 = 9 16 ÷ 4 = 4 7 X 2 = 14 9 X 6 = 54 TBS



37. Rebekah planted 21 flowers in 
her garden.  She planted the 
flowers in 3 rows with the same 
number of flowers in each row.  
How many flowers did she plant in 
each row?

38. Dayton has sixty-three dollars 
to spend on lunches for nine days.  
How much can he spend on lunch 
each day? 

39. Jasmine has twenty-four rats 
that she plans to use to feed her 
six snakes.  How many rats will 
each snake get?

40. Gabriella has sixteen marbles, 
and she wants to give the same 
number to each of her eight 
friends.  How many marbles will 
each get?  

41. Lucas is making eight super 
bacon burgers.  Each burger 
requires seven strips of bacon.  
How many strips of bacon does he 
need? 

42. Abigail has thirty-six chickens 
that she wants to spread out 
evenly in four coops.  How many 
chickens will go in each coop? 

43. Jeremiah has a sixteen-foot-
long pipe that he needs to cut into 
four-foot pieces.  How many 
pieces can he make? 

44. Aniya made seven cookies that 
she will sell for two dollars apiece.  
If she sells all of them, how much 
will she make? 

45. Brooklyn needs to make nine 
batches of biscuits and each batch 
takes six tablespoons of butter.  
How much butter will she need in 
all? 
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Unit: 3rd – Getting Started with Multiplication & Division 
Lesson: 3.4.F – Multiplication & Division Facts to 10
Problem Set 5 

4 X 5 = 20 48 ÷ 6 = 8 7 X 3 = 21 8 X 2 = 16 28 ÷ 4 = 7 4 X 2 = 8 10 X 4 = 40 30 ÷ 6 = 5 5 X 9 = 45 

42 ÷ 6 = 7 2 X 8 = 16 4 X 7 = 28 4 ÷ 2 = 2 49 ÷ 7 = 7 20 ÷ 4 = 5 8 X 4 = 32 30 ÷ 6 = 5 9 X 5 = 45

36 ÷ 6 = 6 72 ÷ 8 = 9 30 ÷ 10 = 3 3 X 2 = 6 32 ÷ 4 = 8 28 ÷ 7 = 4 10 X 3 = 30 3 X 5 = 15 9 X 5 = 45

27 ÷ 3 = 9 6 X 9 = 54 21 ÷ 7 = 3 2 X 3 = 6 18 ÷ 2 = 9 2 X 6 = 12 18 ÷ 3 = 6 30 ÷ 5 = 6 9 X 6 = 54

21 ÷ 3 = 7  63 ÷ 9 = $7 24 ÷ 6 = 4 16 ÷ 8 = 2 8 X 7 = 56 36 ÷ 4 = 9 16 ÷ 4 = 4 7 X 2 = 14 9 X 6 = 54 TBS
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